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[Question ID = 801][Question Description = Q1_Bengali_SH1_Set1_A]
1. 1 [Option ID = 3201]
2. 2 [Option ID = 3202]
3. 3 [Option ID = 3203]
4. 4 [Option ID = 3204]
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[Question ID = 802][Question Description = Q2_Bengali_SH1_Set1_A]
1. 1 [Option ID = 3205]
2. 2 [Option ID = 3206]
3. 3 [Option ID = 3207]
4. 4 [Option ID = 3208]
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[Question ID = 803][Question Description = Q3_Bengali_SH1_Set1_A]
1. 1 [Option ID = 3209]
2. 2 [Option ID = 3210]
3. 3 [Option ID = 3211]
4. 4 [Option ID = 3212]
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[Question ID = 804][Question Description = Q4_Bengali_SH1_Set1_A]
1. 1 [Option ID = 3213]
2. 2 [Option ID = 3214]
3. 3 [Option ID = 3215]
4. 4 [Option ID = 3216]
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[Question ID = 805][Question Description = Q5_Bengali_SH1_Set1_A]
1. 1 [Option ID = 3217]
2. 2 [Option ID = 3218]
3. 3 [Option ID = 3219]
4. 4 [Option ID = 3220]
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[Question ID = 806][Question Description = Q6_Bengali_SH1_Set1_A]
1. 1 [Option ID = 3221]
2. 2 [Option ID = 3222]
3. 3 [Option ID = 3223]
4. 4 [Option ID = 3224]
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[Question ID = 807][Question Description = Q7_Bengali_SH1_Set1_A]
1. 1 [Option ID = 3225]
2. 2 [Option ID = 3226]
3. 3 [Option ID = 3227]
4. 4 [Option ID = 3228]

8)
T A oW A, E REhie iFEeE ST anw SEE AW A, — Feais o
TR TET (T-(TAEF T95 (A (T = o= 270=:

(1)  fFaE=g eErArETE (2) s BIgA
(3) =@M E (4) T faEht

[Question ID = 808][Question Description = Q8_Bengali_SH1_Set1_A]
1. 1 [Option ID = 3229]
2. 2 [Option ID = 3230]
3. 3 [Option ID = 3231]
4. 4 [Option ID = 3232]
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[Question ID = 809][Question Description = Q9_Bengali_SH1_Set1_A]
1. 1 [Option ID = 3233]
2. 2 [Option ID = 3234]
3. 3 [Option ID = 3235]
4. 4 [Option ID = 3236]
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[Question ID = 810][Question Description = Q10_Bengali_SH1_Set1_A]
1. 1 [Option ID = 3237]
2. 2 [Option ID = 3238]
3. 3 [Option ID = 3239]
4. 4 [Option ID = 3240]
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[Question ID = 811][Question Description = Q11_Bengali_SH1_Set1_A]
1. 1 [Option ID = 3241]
2. 2 [Option ID = 3242]
3. 3 [Option ID = 3243]
4. 4 [Option ID = 3244]
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[Question ID = 812][Question Description = Q12_Bengali_SH1_Set1_A]
1. 1 [Option ID = 3245]
2. 2 [Option ID = 3246]

3. 3 [Option ID = 3247]
4. 4 [Option ID = 3248]
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[Question ID = 813][Question Description = Q13_Bengali_SH1_Set1_A]
1. 1 [Option ID = 3249]
2. 2 [Option ID = 3250]
3. 3 [Option ID = 3251]
4. 4 [Option ID = 3252]
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[Question ID = 814][Question Description = Q14_Bengali_SH1_Set1_A]
1. 1 [Option ID = 3253]
2. 2 [Option ID = 3254]
3. 3 [Option ID = 3255]
4. 4 [Option ID = 3256]
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[Question ID = 815][Question Description = Q15_Bengali_SH1_Set1_A]
1. 1 [Option ID = 3257]
2. 2 [Option ID = 3258]
3. 3 [Option ID = 3259]
4. 4 [Option ID = 3260]
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[Question ID = 816][Question Description = Q16_Bengali_SH1_Set1_A]
1. 1 [Option ID = 3261]
2. 2 [Option ID = 3262]
3. 3 [Option ID = 3263]
4. 4 [Option ID = 3264]
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[Question ID = 817][Question Description = Q17_Bengali_SH1_Set1_A]
1. 1 [Option ID = 3265]
2. 2 [Option ID = 3266]
3. 3 [Option ID = 3267]
4. 4 [Option ID = 3268]
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[Question ID = 818][Question Description = Q18_Bengali_SH1_Set1_A]
1. 1 [Option ID = 3269]
2. 2 [Option ID = 3270]
3. 3 [Option ID = 3271]
4. 4 [Option ID = 3272]
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[Question ID = 819][Question Description = Q19_Bengali_SH1_Set1_A]
1. 1 [Option ID = 3273]
2. 2 [Option ID = 3274]
3. 3 [Option ID = 3275]
4. 4 [Option ID = 3276]
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[Question ID = 820][Question Description = Q20_Bengali_SH1_Set1_A]
1. 1 [Option ID = 3277]
2. 2 [Option ID = 3278]



3. 3 [Option ID = 3279]
4. 4 [Option ID = 3280]

Topic:- Bengali_SH1_Set1_B

1)

AeF sTT:G cATF TS ATSIC AHT oA foes 5|

TPAfEFTeT SESIT PEAAE (IS SESIT S AW T e @El G (0@ 9=
WESE ST SN FE SEAT] (HES L2 HEE o9y afE 93 Sfar=) el s
S orevedat 3fear e (1T 9508 (99 J=Eee | (TTNAE (S SIEelT SIRIEE ST 98 STTeF]

TAR ISEET IEEE (a5 979 O ST IW| HE CHAEE SFeT SEEE [SeEa
Sl 1316 T FoE goe SIFeE SoErE @FFEsiiE @6, AE Aitem 997 o
I AT T O FAT WIS (FIEN T (|3 OF A% TS WS AT Teerhea Hi

SR (T - S TN AW TPEAAE 99576 Ay @ awee| Sl A oF ame

T A TIWT TS AL (MF T/ FAR SO TS A ACE SIS (] S A=
AN (NF SESIA SR NS ST AEAS (w8 "7 AW 9599 AT (8]
STESE 5 F500 (4] AT 7! 5 T2 ((F TSN (WS N SIS FO0] b, Fo%T bEfad o
GIERIe A%61 BE| ST R AW IFEF (FET IFe T6 [Fg S e SEfe e
TSI TEH RIS 2o T8 WEHI AR Fe SRS [eE 3310 4] Teiae, FET fef,
I (A IRE-SEEES 3T FHT SEE 61 6 SIS] HE (3PS EHE e FEee TEe |
(FET TS 1 CT6 TS (G5 SIS] (ASTH S F 705 St 26| TR0 JAIeE Fie feema
SiremaE e 461t o9 =eT (3. OF &7 Toes J@AE e TNE SRely Sualey &
1 OfF T (A e o d ol sEer| 39 Iger Aol 6T AR oo smEns I BT T

TH| (7 5P TS 1| B I (U S A oA SRIEE METS T IFEew 7] foer) fofer
T T SRS, SNA] ST T - AT S TmArnd e fe B fEf o iEw
TGETS TFHSE TS T [Feawst| SRS FIGES 3 AP T3 I3 55T 1 SI61 (197
(St Ea e FREEs 791 97 aFEaes 7AW B s

HRg SR (0P (1T A =TT HICT 291 SiRisE:

TG (2) ©wFE
e (4) =TS TTar

[Question ID = 821][Question Description = Q21_Bengali_SH1_Set1_B]
1. 1 [Option ID = 3281]
2. 2 [Option ID = 3282]
3. 3 [Option ID = 3283]
4. 4 [Option ID = 3284]
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[Question ID = 822][Question Description = Q22_Bengali_SH1_Set1_B]
1. 1 [Option ID = 3285]
2. 2 [Option ID = 3286]
3. 3 [Option ID = 3287]
4. 4 [Option ID = 3288]
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[Question ID = 823][Question Description = Q23_Bengali_SH1_Set1_B]
1. 1 [Option ID = 3289]
2. 2 [Option ID = 3290]
3. 3 [Option ID = 3291]
4. 4 [Option ID = 3292]
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[Question ID = 824][Question Description = Q24_Bengali_SH1_Set1_B]
1. 1 [Option ID = 3293]
2. 2 [Option ID = 3294]
3. 3 [Option ID = 3295]
4. 4 [Option ID = 3296]
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1. 1 [Option ID = 3297]
2. 2 [Option ID = 3298]
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1. 1 [Option ID = 3305]
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[Question ID = 828][Question Description = Q28_Bengali_SH1_Set1_C]
1. 1 [Option ID = 3309]
2. 2 [Option ID = 3310]
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1. 1 [Option ID = 3313]
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2. 2 [Option ID = 3318]
3. 3 [Option ID = 3319]
4. 4 [Option ID = 3320]

6)
e ST T T TiE TR (I ST TiaT SR Sl 20

(1) 3= 2 et
(3) FEE (4) el

[Question ID = 831][Question Description = Q31_Bengali_SH1_Set1_C]
1. 1 [Option ID = 3321]
2. 2 [Option ID = 3322]
3. 3 [Option ID = 3323]
4. 4 [Option ID = 3324]



7
) e 2 @ (el ST=be mEdE (A wg IfEeE 97 3o o7 =G ==

1) 4f&eT (2) =EEs
(3) wmEEEe (4) Tupfder
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1. 1 [Option ID = 3329]
2. 2 [Option ID = 3330]
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4. 4 [Option ID = 3332]
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1. 1 [Option ID = 3333]
2. 2 [Option ID = 3334]
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1. 1 [Option ID = 3337]
2. 2 [Option ID = 3338]
3. 3 [Option ID = 3339]
4. 4 [Option ID = 3340]
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[Question ID = 836][Question Description = Q36_Bengali_SH1_Set1_C]
1. 1 [Option ID = 3341]
2. 2 [Option ID = 3342]
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4. 4 [Option ID = 3344]
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[Question ID = 837][Question Description = Q37_Bengali_SH1_Set1_C]
1. 1 [Option ID = 3345]
2. 2 [Option ID = 3346]
3. 3 [Option ID = 3347]
4. 4 [Option ID = 3348]
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[Question ID = 838][Question Description = Q38_Bengali_SH1_Set1_C]
1. 1 [Option ID = 3349]
2. 2 [Option ID = 3350]
3. 3 [Option ID = 3351]
4. 4 [Option ID = 3352]
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[Question ID = 839][Question Description = Q39_Bengali_SH1_Set1_C]
1. 1 [Option ID = 3353]
2. 2 [Option ID = 3354]



3. 3 [Option ID = 3355]
4. 4 [Option ID = 3356]
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1. 1 [Option ID = 3357]
2. 2 [Option ID = 3358]
3. 3 [Option ID = 3359]
4. 4 [Option ID = 3360]
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1. 1 [Option ID = 3361]
2. 2 [Option ID = 3362]
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4. 4 [Option ID = 3364]
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1. 1 [Option ID = 3365]
2. 2 [Option ID = 3366]
3. 3 [Option ID = 3367]
4. 4 [Option ID = 3368]
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[Question ID = 844][Question Description = Q44_Bengali_SH1_Set1_C]
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3. 3 [Option ID = 3379]
4. 4 [Option ID = 3380]

Topic:- Bengali_SH1_Set1_D

1)

AE aFT STHRT (7T T TFFS! TUsfF 9T TR AT SoF FIE TG

% Tud g O AGHAIELSE] Ot (T 955(a &7 T (T C7F BII9 29 SEfaEe of 3= = =11
SIFET TE] 516 TorE T WNF IR "ifRe) [Fons Svea MiEey A wm e o e
et aEe TP e P e ¢ AeERT 36, S Jhewe S5 Jfewel (3F (3
AT Aes T[0T 91 TS| [SACT FTHEE (77 (NHFa] [#5 ST SEEEE| 9 79174 fTae (el
foet (P18 T=Ifge ST3a, (TN (SR 91 (FIQ2ETS (FIAS ANAFTS {1 I IFT ST 924
DA FAG T (T CTIETH STSTGS] AT ¢ TEF0 T (F6 (GoA1-S el Gl i
71| s TS faEe e SRASRE | 95 WET AW o O (7 AP | (51 ©f 95 (3
Fysifie IR MRSy TS TEE MRSy JET A1 TS F T §E v | mRIie, R
ST, SR PRI ST, STSe 1 T2 ST G501 (AR Thew] T SIea] A1 sk, Stas &
A FEh FEerE. SR I S6 e fFE gumEe SIHE O S[EE. TEEAle 91 TEe
SR BT

ST SEAFE STelpifee T, TN 5O B WS 93 MGER (3 IR HiRe-TFe-
(TR - (TP T ARE ARSTTOF (1] RIEAT S PG SETS IRAT ST AT 55
o2 S 71 97 TS 3 A7) FArEOEs ¢ MRe A=) O 8 TR Aereled TS A% FAES
FARile (F TA SEE S (W BY CTHE TR {EEES G S39EE STEE SSEE|
AU AE S NEES SNAT BIF T8 (T 4% “Parallel Growth’ (7 F31 f&fay st w9 wawTs
e EStaT A=t A=, 7 o 5= 91 99 27 TEe e SeAs S T8 781 SEE A& A
TGN (T8 ool 1 TGS ANA] SEAFFS| B ST (O] TSFE Pfaw] 93 B HASISHT|

%G SR TR0 A IF 16 FGT 8 BT AT [ (67T 3 -

TIAT: TRAT TN qT 97 9T T 906 A6 T e 719y =7

e : FIET AATARS ST TSP Pl |

1)
(2)
(3)
(4)

I 8 e ot G
e e e 1Mt oot
e ot e TS o
T 8 Ife SeFE BT

[Question ID = 846][Question Description = Q46_Bengali_SH1_Set1_D]
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3. 3 [Option ID = 3383]
4. 4 [Option ID = 3384]
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3. 3 [Option ID = 3387]
4. 4 [Option ID = 3388]
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(1) (a)-(ii). (b)-(iid). (e)-(iv). (d)-(i)
2) (a)-(11), (b)-(iw). (e)-(1). (d)-(i11)
(3 (a)-Gii), b)-({). (e)-(iv), (d)-(ii)
4 (2)-(v), (b)-(id), (c)-(). (d)-(i1)

[Question ID = 888][Question Description = Q88_Bengali_SH1_Set1_E]
1. 1 [Option ID = 3549]
2. 2 [Option ID = 3550]
3. 3 [Option ID = 3551]
4. 4 [Option ID = 3552]
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[Question ID = 889][Question Description = Q89_Bengali_SH1_Set1_E]
1. 1 [Option ID = 3553]
2. 2 [Option ID = 3554]
3. 3 [Option ID = 3555]
4. 4 [Option ID = 3556]
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@) (2-G). (b)), ()-(iv), (d-(v). (e)-()
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[Question ID = 890][Question Description = Q90_Bengali_SH1_Set1_E]
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A

(B)
(©)
D)
(E)

1 [Option ID = 3557]
2 [Option ID = 3558]
3 [Option ID = 3559]
4 [Option ID = 3560]
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[Question ID = 891][Question Description = Q91_Bengali_SH1_Set1_E]
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1 [Option ID = 3561]
2 [Option ID = 3562]
3 [Option ID = 3563]
. 4 [Option ID = 3564]
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[Question ID = 892][Question Description = Q92_Bengali_SH1_Set1_E]
1. 1 [Option ID = 3565]



2. 2 [Option ID = 3566]
3. 3 [Option ID = 3567]
4. 4 [Option ID = 3568]
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[Question ID = 893][Question Description = Q93_Bengali_SH1_Set1_E]
1. 1 [Option ID = 3569]
2. 2 [Option ID = 3570]
3. 3 [Option ID = 3571]
4. 4 [Option ID = 3572]
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[Question ID = 894][Question Description = Q94_Bengali_SH1_Set1_E]
1. 1 [Option ID = 3573]
2. 2 [Option ID = 3574]
3. 3 [Option ID = 3575]
4. 4 [Option ID = 3576]
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[Question ID = 895][Question Description = Q95_Bengali_SH1_Set1_E]
1. 1 [Option ID = 3577]
2. 2 [Option ID = 3578]
3. 3 [Option ID = 3579]
4. 4 [Option ID = 3580]
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(1) (a)-(iv). (b)-(v). (e)-(id). (d)-(D). (e)-(iii)

(2)  (a)iid). (b)-(v), (e)-Q). (d)-(v). (e)-(i1)

(3 (a)-(i1), (b)-(iii). (e)-(1). (d)-(v). (e)-(iv)

4 (a)-(iii), (b)-(iv), (e)-(v). (d)-(3). (e)-(ii)
[Question ID = 896][Question Description = Q96_Bengali_SH1_Set1_E]
1. 1 [Option ID = 3581]
2. 2 [Option ID = 3582]

3. 3 [Option ID = 3583]
4. 4 [Option ID = 3584]
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[Question ID = 897][Question Description = Q97_Bengali_SH1_Set1_E]
1. 1 [Option ID = 3585]
2. 2 [Option ID = 3586]
3. 3 [Option ID = 3587]
4. 4 [Option ID = 3588]
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1 (a)-(i). (b)-(1). (e)-(iv), (d)-(iii)

(2 (a)-id). (b)-({). (e)-(iv), (d)-(i1)

3) (a)-(v), (b)-(iid), (e)-(1). (d)-(ii)

4 (a)-(iii). (b)-(iv), (e)-(ii), (d)-(i)
[Question ID = 898][Question Description = Q98_Bengali_SH1_Set1_E]
1 [Option ID = 3589]
2 [Option ID = 3590]

3 [Option ID = 3591]
4 [Option ID = 3592]
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[Question ID = 899][Question Description = Q99_Bengali_SH1_Set1_E]
1. 1 [Option ID = 3593]
2. 2 [Option ID = 3594]
3. 3 [Option ID = 3595]
4. 4 [Option ID = 3596]
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[Question ID = 900][Question Description = Q100_Bengali_SH1_Set1_E]
1. 1 [Option ID = 3597]
2. 2 [Option ID = 3598]
3. 3 [Option ID = 3599]
4. 4 [Option ID = 3600]

Topic:- GP6_D1_SH1_Set2_A

1) The given table gives the percentage distribution of population of five states A, B, C, D, E on the basis

of Education and also on the basis of sex. Study the table and answer the questions that follow

Proportion of Males and Females
State |Percentage of Educated Population|(10+2 Category)/(Graduate Category)
A 60 5:6 5:3
B 50 5:5 5:2
C 35 5:3 4:3
D 45 6:5 4:2
E 41 4:3 3:2

AIfIDT BT 3ERIST D2 forgat gesll @ Iz St :
forgrfeiRaa anferast 3t forem a feist @ smenmz uz A, B, C, D 3iiz E uia @il &t Sierizsn o1 fazur gferora fe=m sk 3

gl a afgensii oI AAToUrd

RIS [fAIféra Stereizean o1 gferora | (10+2) 9yt | Fera® guft
A 60 5:6 5:3
B 50 5:5 5:2
C 35 5:3 4:3
D 45 6:5 4:2
E 41 4:3 3:2

Suppose the population of State A is 1 million, count the number of graduate females in State A
A I15%1 DY SreRizen 10 cRa Atel al A I 3 Folidd Afsctisil bt A= a=ir 8 ?

[Question ID = 1851][Question Description = S2_qSNz_PG_GP6_Q01]
1. 2,15,000

[Option ID = 7401]
2. 2,25,000

[Option ID = 7402]
3. 2,30,000

[Option ID = 7403]
4. 2,20,000

[Option ID = 7404]

2) The given table gives the percentage distribution of population of five states A, B, C, D, E on the basis

of Education and also on the basis of sex. Study the table and answer the questions that follow

Proportion of Males and Females
State [Percentage of Educated Population|(10+2 Category)(Graduate Category)
A 60 5:6 5:3
B 50 5:5 5:2
C 35 5:3 4:3
D 45 6:5 4:2
E 41 4:3 3:2

AIfIDT BT 31ERIST D2 for1gat gesll o Iaz St :
forgarfciRaa arferest 3 forem a feist @ smem= uz A, B, C, D 3iiz E uia @il &t Sierzizen o1 faaeur gferora fe=m sk 3




gl d Afdcisil o1 AATuId

RIS fAIf1a Storeizem @t gferora | (10+2) goft | Jorae guft
A 60 5:6 5:3
B 50 5:5 5:2
(o 35 5:3 4:3
D 45 6:5 4:2
E 41 4:3 3:2

If the male population in the 10 + 2 category is 2 million in State B, then the total population of State B is
afe s B 3 10+2 9)uft &bt gau Sterizen 20 ord 3, dl s B & o soriwn ____ 3

[Question ID = 1852][Question Description = S2_qSNz_PG_GP6_Q02]
1. 8 million/8 firferret

[Option ID = 7405]
2. 6 million/6 Biférmer

[Option ID = 7406]
3. 7 million/7 fiferrer

[Option ID = 7407]
4. 9 million/9 Biférmor

[Option ID = 7408]

3) The given table gives the percentage distribution of population of five states A, B, C, D, E on the basis

of Education and also on the basis of sex. Study the table and answer the questions that follow

Proportion of Males and Females
State [Percentage of Educated Population|(10+2 Category)(Graduate Category)
A 60 5:6 5:3
B 50 5:5 5:2
C 35 5:3 4:3
D 45 6:5 4:2
E 41 4:3 3:2

AIfeIBI T 3ERIoT D2 forgol gesll o Iar SISt :
forgarfeiRaa arferast 3t forem a feisr @ smenmz uz A, B, C, D siiz E uia sl &t Sierzizsn o1 fazur gferord fe=m sk 3

gul g aAfdensii o1 AU

Rrs (fOrfara Storizemt @1 yferora | (10+2) gpuft | Joirasm g)uft
A 60 5:6 5:3
B 50 5:5 5:2
C 35 5:3 4:3
D 45 6:5 4:2
E 41 4:3 3:2

What will be the difference between the male population in the (10+2) category and the male population in the Graduate
category if the total population of State C is 4 million.

f¢ Irsa C bl apet Sorizean 40 o 3, dl (10 + 2) uil & gy StelRkizRa 3R Folldas Juil o Yy StelRkizal 3 fevdei siar gen ?
[Question ID = 1853][Question Description = S2_qSNz_PG_GP6_Q03]
1. 73,000

[Option ID = 7409]
2. 70,000

[Option ID = 7410]
3. 75,000

[Option ID = 7411]
4. 74,000

[Option ID = 7412]

4) The given table gives the percentage distribution of population of five states A, B, C, D, E on the basis

of Education and also on the basis of sex. Study the table and answer the questions that follow

Proportion of Males and Females
State [Percentage of Educated Population|(10+2 Category)(Graduate Category)
A 60 5:6 5:3
B 50 5:5 5:2




C 35 5:3 4:3
45 6:5 4:2
41 4:3 3:2

o

m

AIfIDT BT 31ERIST D2 fo1gat gesll o Iaz difste :
forgarfeiRaa anferast 3t forem a feisr @ smem= uz A, B, C, D siiz E uia @il &Y Sierzizen o1 faaeur gferora fe=m sk 3

Ul a Afdesil o1 AdATuId

s (fOrféra StorRizent @1 yferord | (10+2) guft | errae g)uft
A 60 5:6 5:3
B 50 5:5 5:2
c 35 5:3 4:3
D 45 6:5 4:2
E 41 4:3 3:2

Which state will have the highest number of female population (in the Graduate category), if the population

of each state is 1 million?
Afe g I bl sorRizsn 10 era 3 dl Foirae 9uit 3 b s & aifden sorizen Faifires el

[Question ID = 1854][Question Description = S2_qSNz_PG_GP6_Q04]
1. A

[Option ID = 7413]
2. B

[Option ID = 7414]
3. C

[Option ID = 7415]
4. D

[Option ID = 7416]

5) The given table gives the percentage distribution of population of five states A, B, C, D, E on the basis

of Education and also on the basis of sex. Study the table and answer the questions that follow

Proportion of Males and Females
State Percentage of Educated Population|(10+2 Category)/(Graduate Category)
A 60 5:6 5:3
B 50 5:5 5:2
C 35 5:3 4:3
D 45 6:5 4:2
E 41 4:3 3:2

AIfIDT BT 31ERIoT D2 fo1gat gesll o Iz difvie :
forgaifeiRaa arferast 3 forem a feist @ smem= uz A, B, C, D 3iiz E uia @il &t Sierzizen o1 faaeur gferora fem sk 3

Ul d AfScisil o1 AATuId

Rrsw (fOrféra StorRizent w1 yferord | (10+2) guft | orae gjuft
A 60 5:6 5:3
B 50 5:5 5:2
C 35 5:3 4:3
D 45 6:5 4:2
E 41 4:3 3:2

Find out the total number of females in the Graduate category in State D (Total population is 2 million ) and
State E (Total population is 1 million)
s D (e storizRn 20 ara 3) 3iiR 35 E (aget srorizen 10 o 3) 3 Toiraas 9ot i aifdemnsit &bt ager 2izen o= 3 ?

[Question ID = 1855][Question Description = S2_qSNz_PG_GP6_Q05]

1. 4,50,564

[Option ID = 7417]
2. 4,20,890

[Option ID = 7418]
3. 4,64,000

[Option ID = 7419]
4. 4,50,660



[Option ID = 7420]

Topic:- GP6_D1_SH1_Set2_B

1) How many channels are there in the Swayam Prabha bouquet ?
TR 3o 3 feperor Jote1 3 ?

[Question ID = 1856][Question Description = S2_qSNz_PG_GP6_Q06]
1. 23

[Option ID = 7421]
2. 32

[Option ID = 7422]
3. 43

[Option ID = 7423]
4. 34

[Option ID = 7424]

2) Which among the following is an incorrect action verb for comprehension level?
af¥sirel Faz @ fere fowaifeiRaa 3 2 @iar 2t staa orifcae fogar 3 ?

[Question ID = 1857][Question Description = S2_qSNz_PG_GP6_Q07]
1. Convert/uf¥adoer

[Option ID = 7425]
2. Applaud/ggien

[Option ID = 7426]
3. Paraphrase/siare[arg

[Option ID = 7427]
4. Summarize/gidtaur

[Option ID = 7428]

3) Given below are two statements

Statement I: Classroom assessment of learning, particularly beyond the early elementary grades has been based almost
exclusively

on paper and pencil tests, which indicate, rather than measure, what children have learned.

Statement Il: Authentic tests do not ask learners to display their skills and behaviours in the way they will be displayed
outside the

classroom in the real world.
In light of the above statements, choose the most appropriate answer from the options given below
i Sf weret fou a1 3 &

@ol - | 1 a9 IR grefire )i @ 3i1e1 f2erH BT DeIl 3Midbelol fMDI9N 36Tod U A DTS M2 Betd URIST UR menfyd 3 Sil yeael
3U A AU

@ FeUTol UR ADd DI & fob el of o= Hiar 3

@eret - |l @ grenfres udien i forgnfefeil I sraol wloret siiz RMasR &1 3A YbR Ygolel dal D fe1e o1él sl Sirar & Siar d aeim A d1s b
ardfae gform 3
DI

SURITP DUoil D 3l A, ofld Gu famcal 3 A 73l 3a= @1 wRIel Hiferw :

[Question ID = 1858][Question Description = S2_qSNz_PG_GP6_Q08]
1. Both Statement | and Statement Il are correct/aerat | 3iiz || Seil &t &

[Option ID = 7429]
2. Both Statement | and Statement Il are incorrect/aerer | 3iiz || Sl srcta 3

[Option ID = 7430]
3. Statement | is correct but Statement Il is incorrect/mert | 2l €, fboq el |l s &

[Option ID = 7431]
4. Statement | is incorrect but Statement Il is correct/@err | srer &, fpog werer || 3@t &

[Option ID = 7432]

4) Direct instruction strategies are indispensable for achieving content mastery, and over learning facts, rules and action
sequences. ldentify the correct sequence for the direct instructional sequence for learning mastery.

A. Monitor and diagnose progress



B. Teach/ re-teach

C. Provide feedback

D. Present new content

E. Practice

Choose the correct answer from the options given below
fererrarq 3 uRsTadr siiz adl orEIl a orRI 9jzacsil @ sifere sif2pra & gIfft @ fere yruset srerdor wiehife sifsrart 3 ursradar (sar<dl) sifeerer
3q Yeasl MofSor 9jact Pl usdrel BIfdIg :

A. yzIfer 6 fori6h a foreror

B. sreamuot / got: sremdet

C. yfergftc won

D. o1 forer1 avq yzga @l

E. 3131

sifa fou s1e frpeul 9 A A IR DI w6l HISIE ¢

[Question ID = 1859][Question Description = S2_qSNz_PG_GP6_Q09]
1. B, E, A, C, D

[Option ID = 7433]
2. D,B,EAC

[Option ID = 7434]
3. AD,E,C,B

[Option ID = 7435]
4. C,E,B,D, A

[Option ID = 7436]

5) Match List | with List Il

List | List Il

A. Classical conditioning [Il. Albert Bandura
B. Operant conditioning [Il. lvan Pavlov

C. Social learning theoryllll. Lev Vygotsky

D. Constructivism IV. B. F. Skinner

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

et | eh -1l
A. aenRB1bRI 31oldyctol I. srcad sigar

B. feprIgRId sreldyciol Il. sare1 uraca
C. S sifee Rirgia lll. c/a arElalRe
D. Jireiac IV. di. ow. Rworz

off< feu oru frpedl 3 A 38 3R gfore :

[Question ID = 1860][Question Description = S2_qSNz_PG_GP6_Q10]
1. A-,B-1I,C-1,D-1IV

[Option ID = 7437]
2. A-1L,B-11,C-1V,D-I

[Option ID = 7438]
3. A-1L,B-1V,C-1,D-1ll

[Option ID = 7439]
4. A-IV,B-I,C-1ll,D-1I

[Option ID = 7440]

6) The values which explain how closely the variables are related to each one of the factors discovered are known as
3ol =il @l fpa U 3 SII6ll ST 3 Sl A8 Iute D 3 b TR I 318 g BR® A fbdell formedr 3 Jdfera 3 ?

[Question ID = 1861][Question Description = S2_qSNz_PG_GP6_Q11]
1. Factor-loadings/®Ra® cicrot

[Option ID = 7441]
2. Yate's correction/d obr Jioherer

[Option ID = 7442]



3. Deliberate sampling/ziigoa yfercrior

[Option ID = 7443]
4. Kruskal-Wallis test/mewpe - afert wiemr

[Option ID = 7444]

7) The process which involves the construction of an artificial environment within which relevant information and data can
be generated is called as

0 pfefer uf¥aor & ael ot arcll Yfep ol o= el Sl 3 RIS fiar JHsTa e 3iiR siiws] &l Icafea & s a1 ?

[Question ID = 1862][Question Description = S2_qSNz_PG_GP6_Q12]
1. Inferential approach/a¥aent 3umEw

[Option ID = 7445]
2. Experimental approach/yrif3ic umwrer

[Option ID = 7446]
3. Simulation approach/sigeudr 3uewEr

[Option ID = 7447]
4. Qualitative approach/spica® 3uwE

[Option ID = 7448]

8) Given below are two statements

Statement I: Only phenomena and hence knowledge confirmed by the senses cannot genuinely be warranted as
knowledge.

Statement Il: Science must (and presumably can) be conducted in a way that is value free.

In light of the above statements, choose the correct answer from the options given below

il St ool fdu sre 3 ¢

ool - | 1 sfogal grr yfte &t a1¢ ufdaressil silz 31d: ol @I YrEnivre wu I sisfice Sirel o1él aal S A 3
et - |l : frsiret ot siferaria: (s Jdsreaa:) #ca #b a8D A Aaifera e siren aifde

SWRITP Pl @ 3MIelld i, ofld 3w s1e el 3 A A8l Iar I a6t HifSte :

[Question ID = 1863][Question Description = S2_qSNz_PG_GP6_Q13]
1. Both Statement | and Statement Il are true/err | iz || Sloll 3rcer 3

[Option ID = 7449]
2. Both Statement | and Statement Il are false/a@erwor | iz 1l Qail 3RIcT &

[Option ID = 7450]
3. Statement | is true but Statement Il is false/@ewer | 311 &, fbog et || s &

[Option ID = 7451]
4. Statement | is false but Statement Il is true/memt | srpic 8, fpog weer || 311 &

[Option ID = 7452]

9) Which among the following assist a researcher as data collection tools?
A. Google Form

B. Survey Monkey

C. Microsoft Forms

D. NVivo

E. Blender

Choose the correct answer from the options given below:

forgstferiaa 3 31 wlol A v onenedl & fe1g s1id>s Yade] Wl dIct ATeIoI B WU 3 HSRID 3 ?
A. spre et

B. ad it

C. as@RiiTe Bt

D. wot diar

E. scise

il fou s1u fyepeul 3 A & IR BT w6l HIfSIE ©

[Question ID = 1864][Question Description = S2_qSNz_PG_GP6_Q14]
1. A, B and C only/daa A, B siiz C



[Option ID = 7453]
2. B, Cand D only/dae B, C sz D

[Option ID = 7454]
3. C,DandEonly/@aet C, D iR E

[Option ID = 7455]
4. B, D and E only/a@qet B, D siz E

[Option ID = 7456]

10) Match List | with List Il

List | List Il

I. An approach to the relationship between theory and
research in which the latter is conducted with
reference to hypotheses and ideas inferred from the
former.

A. Empiricism

Il. General approach to the study of reality that
B. Indicator [suggests that only knowledge gained through
experience and the senses is acceptable.

lll. A form of reasoning with strong ties to induction
that grounds social scientific accounts of the social

world in the perspectives and meanings of participants
in these social worlds.

C. Deduction

IV. A measure that is employed to refer to a concept

D. Abduction . . .
when no direct measure is available.

Choose the correct answer from the options given below:
it -1 @1 3 -1l A A Hide

oxeft -1 et -1l

A.

, . Rrgia a eler & dia @ ider ® yfir surE Rrewi Brgia 3
2 foreTfdra yraacuol a faamrt @ Aocst A oner fapan sirar 3

B. |l. arafdedr & 3R @ gfel ARIIeA IUPHI Sl Jdd Bl & b
Ridam  [dad elid d sfogal @ e A Al Silol 8l FAPRI 8

Ill. oSl @1 ves U Sl gader A ISl A ST 3 Sit ARNRID glorm

c. @ AEnfIe dsifore aarsil o uf¥ga 3 iz Io Arnfore gform 3
selcRI @ sref ol Siisar 3
D. IV. o> ¥l Fascueit &I 3R ADA BIol DI SURI S DI YIS IURT|

BIUSIAGl  [SUCToE] of Bl

il fou a1 frseul 3 A A8 IR gfom ©

[Question ID = 1865][Question Description = S2_qSNz_PG_GP6_Q15]
1. A-1Il,B-1,C-1V,D-1

[Option ID = 7457]
2. A-11,B-1IV,C-1,D-1ll

[Option ID = 7458]
3. A-1,B-1IL,C-1I,D-1V

[Option ID = 7459]
4. A-IV,B-1,C-1ll,D-1I

[Option ID = 7460]

11) Diagonal communication is

farapoff Jigwor

[Question ID = 1866][Question Description = S2_qSNz_PG_GP6_Q16]
1. Latent/s=rb 3

[Option ID = 7461]
2. Aggresive/sm@ppid 3



[Option ID = 7462]
3. Cross-functional/sia: yorifcas 3

[Option ID = 7463]
4. Non-functional/3I? yorifca®m 8

[Option ID = 7464]

12) The means of non-verbal communication are :
A. Spoken language

B. Time language

C. Sign language

D. Space language

E. Written language

Choose the correct answer from the options given below:
31 - onféce AYWUT @ ALl 3 ©

A. Scrarer &Y srar

B. R sron

C. Jd>d sren

D. ¥errer (FU=1) sirer

E. faRaa smmen

il feu aru fareedl 3 A A8 IR D1 TRIet B :

[Question ID = 1867][Question Description = S2_qSNz_PG_GP6_Q17]
1. A, B and C only/daet A, B siiz C

[Option ID = 7465]
2. B, C and D only/daea B, C sz D

[Option ID = 7466]
3. D, Cand E only/dae C, D aie E

[Option ID = 7467]
4. A, D and E only/a5ae A, D sik E

[Option ID = 7468]

13) Given below are two statements

Statement I: The semiotics of Charles Pierce cannot be called a Theory of Communication.

Statement Il: Charles Pierce prepared a system of concepts with a common basis of expression and narration.
In light of the above statements, choose the most appropriate answer from the options given below

il ol Dol fdu srw 3 ¢

@l - | : arcd RRRf & dAdda fAsior o AYuer o1 Rigid ofél @ar s Addr 3

werel - || : arced ftrRt o sifircafts a snsirer o JeTel 3imenR o Aascuensil bf v yuirett TR &

JUIRITP Dol D 3Tl 3, ol fGu s1u fadedl # 1 38l 3= @1 =61 HifSte ©

[Question ID = 1868][Question Description = S2_qSNz_PG_GP6_Q18]
1. Both Statement | and Statement Il are correct/aerat | 3ii2 |l Sl &8 &

[Option ID = 7469]
2. Both Statement | and Statement Il are incorrect/@erwr | 3tz || Sloil srctd &

[Option ID = 7470]
3. Statement | is correct but Statement Il is incorrect/wermer | %@t &, fpog e || arerT &

[Option ID = 7471]
4. Statement | is incorrect but Statement Il is correct/@ert | srera 8, fpog weret || 31 &

[Option ID = 7472]

14) The correct sequence of communication contexts is:
A. Temporal

B. Physical

C. Social

D. Cultural



E. Psychological

Choose the correct answer from the options given below
AYHT ol BT 8L o 3 ¢

A. srerft

B. siffors

C. anfore

D. s

E. solidsnform

ofid fou a1 fweal & A A8 IR BT wRI6T BT :

[Question ID = 1869][Question Description = S2_qSNz_PG_GP6_Q19]
1. B,D, C, E, A

[Option ID = 7473]
2. C,E,D,A B

[Option ID = 7474]
3. D,A B, EC

[Option ID = 7475]
4. A,C,B,D,E

[Option ID = 7476]

15) Match List | with List Il

Example Communication

IA. Rehearsing the messages to send to others. |.Group communication

B. Writing a letter to a friend Il. Intrapersonal communication
C. Talking to a team of 5 to 10 persons Ill. Mass communication

D. Message from one source to many anonymous receivers.[IV. Interpersonal communication.

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

ozt -1 et -1l
(3c18201) (ot 9)oft)
A. g3l @I Aistol @ ferg Foll @I yaisara I. 2131 AgwoT
B. forqg @1 uq feraen Il. sroa: dGaftoawd
C. 5 A 10 cafepl &1 & A art wen lll. Sto1 TR
D. o e A 3M6ID S I disil ol Ao ol IV, siR daftpd

il fou o1e fyseul 3 A A8 IR gom ©

[Question ID = 1870][Question Description = S2_qSNz_PG_GP6_Q20]
1. A-IV,B-1,C-1l,D-1I

[Option ID = 7477]
2. A-1,B-1I,C-1Il,D-1IV

[Option ID = 7478]
3. A-IL,B-IV,C-1,D-1I

[Option ID = 7479]
4. A-11,B-1V,C-1I,D-1

[Option ID = 7480]

16) What number comes next in the following sequence?
1, 2.25, 6.25, 16, ?
forgotferRaa srofapat 3 smrctl Fizeam @ Bl ?

1, 2.25, 6.25, 16, ?

[Question ID = 1871][Question Description = S2_qSNz_PG_GP6_Q21]
1. 26.25

[Option ID = 7481]
2. 36

[Option ID = 7482]




3. 32.5

[Option ID = 7483]
4. 38.25

[Option ID = 7484]

17) How old is Ravi if in 8 years time he will be twice as old as he was twenty years ago?

afe 8 adf uir A 6t 3Ry 3t 20 adf gd &t 3Ry &t qetert i Y ol Bl Al 31reT DT IR fopeelt 3 ?

[Question ID = 1872][Question Description = S2_qSNz_PG_GP6_Q22]

1. 56

[Option ID = 7485]
2. 48

[Option ID = 7486]
3. 28

[Option ID = 7487]
4. 26

[Option ID = 7488]

18) Vipul said to a lady, " Your mother's husband's sister is my aunt.” How is the lady related to Vipul?

ferget of o> #Ifdenr A wal, "arudl Arar @ ufer b geot Al snic 7 as Afden fager A fpA yor Hd&fda E ?

[Question ID = 1873][Question Description = S2_qSNz_PG_GP6_Q23]
1. Aunt/siic

[Option ID = 7489]
2. Mother/af

[Option ID = 7490]
3. Brother/o$

[Option ID = 7491]
4. Sister/«sot

[Option ID = 7492]

19) Given below are two statements
Statement I: In one minute, the minute hand of a clock moves 5°.
Statement II: In one minute, the hour hand of a clock moves 1°.

In light of the above statements, choose the correct answer from the options given below

il of @eret feu a1e 3 ¢

P - | : v firore 3 @l & Brore archl E 5° aerct 3
@Yol - || : v fBrere 3 ast &I @ aretl J$ 1° Tercdl 8
SURITD Dol D 3Icllib H, ofld U s1w famcul 3 A Jt IR BI wRIel HBiforw :

[Question ID = 1874][Question Description = S2_qSNz_PG_GP6_Q24]
1. Both Statement | and Statement Il are true/aerer | 3iiz || Slell 3 &

[Option ID = 7493]
2. Both Statement | and Statement Il are false/a@ermr | iz || Glaii sRiT &

[Option ID = 7494]
3. Statement | is true but Statement Il is false/@ewr | 3= &, fboq dee |l 3R 8

[Option ID = 7495]
4. Statement | is false but Statement Il is true/@emt | sRIcT 8, fbog werer | 3T &

[Option ID = 7496]

20) Which of the following statements is/are true?

A. 10% loss on selling price is an 8% loss on the cost price.

B. Swati bought a pen for Rs.100 and sold it at a loss of 25%. The price at which pen was sold is Rs.75.
C. Yaman purchased an item for Rs.250 and sold it for Rs.348. He made 38% profit.

Choose the correct answer from the options given below

forseifeiRaa weell Uz fiar Hifsie :



A. fdat o az 10 % sifor, eI dlod uz 8 % sifor &

B. zaifer of 100 U 3 vep wpetat Zdiar 3R 3A 25 % it sifor uz den wera &t @)} Hara ». 75 3
C. J31e1 of ub avq ¥ 250 3 3I<T 3iir 31 5 348 3 damr A 38 % < g3

il fou s1u frpeul 3 A & 3R BT a6l HIfSIE ©

[Question ID = 1875][Question Description = S2_qSNz_PG_GP6_Q25]
1. B only/dac B

[Option ID = 7497]
2. Band C only/@act B siiz C

[Option ID = 7498]
3. Aand B only/@act A ik B

[Option ID = 7499]
4. Conly/oaa C

[Option ID = 7500]

21) Match List | with List Il

List | List Il

Proposition in Square of OppositionResultant Proposition

A. If 'A" is True I. 'I' is true; 'O’ is undetermined.
B. If 'E' is False Il. 'E' is false; 'A" is undetermined
C. If 'I'is True lll. 'E' is false; 'O’ is false

D. If 'O' is False IV. 'A' is true; 'I' is true

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A R Hife

et -1 el -1

A. AR A a8 2 I. ' 5@ 3; 0" arforerr 3

B. af? 'E’ ui#t 3 I1. 'E’ o111 3; "A” aiforral 3
C.aR I' u@ 3 IIl. 'E’ aret 3; 'O’ orcter &
D. aR "0 " wdt 3 IV. 'A'5& 3 T w83

oiil f¢u aru famedl 3 A A8 3R Yot :

[Question ID = 1876][Question Description = S2_qSNz_PG_GP6_Q26]
1. A-1,B-1I,C-1V,D-1

[Option ID = 7501]
2. A-1,B-1IV,C-1ll,D-I

[Option ID = 7502]
3. A-NL,B-1,C-1I,D- IV

[Option ID = 7503]
4. A-IV,B-1l,C-1,D-1Il

[Option ID = 7504]

22) An inference when based on a middle term which is only positively related to the major term and the knowledge of
Vyapti between the middle and major terms is arrived at only through the agreement in presence is known as

31oJ ol SId QA 3q UR SMENT¥d BIdl 3 Sil ATER A dac ElellcdAd WU A AL 2l 3R S 3q del AT D dikI RAtP I Silel dddel Joldl AT
Suf¥erfer & 3SR U B, BECIIl 3

[Question ID = 1877][Question Description = S2_qSNz_PG_GP6_Q27]
1. Kevalanvayi/@actiora=ft

[Option ID = 7505]
2. Kevala-vyatireki/daet safeRdt

[Option ID = 7506]
3. Anvaya vyatireki/seaer cifeRdt

[Option ID = 7507]
4. Sheshvat/gdmaa

[Option ID = 7508]



23) When the middle term is related to a minor term that stands not for any definite individual or class of individuals, but
indefinitely for all objects is known as

SId DI 3q U U1 ugl A Adia a1 Sl fop=il foifaa cufep an cafep=il &b 9)uit o o181 avat siforfRie u 3 el a=qail @ fere a1, dI 3R} o= el
Sirer 3 ?

[Question ID = 1878][Question Description = S2_qSNz_PG_GP6_Q28]
1. Sadharana Savyabhichara/zmemvr Jrcafdrar

[Option ID = 7509]
2. Asadharana Savyabhichara/srmerr Jcafdrar

[Option ID = 7510]
3. Anupasamhari Savyabhichara/seREsrR! Ak

[Option ID = 7511]
4. Viruddha/Reg

[Option ID = 7512]

24) Which of the following is NOT a necessary condition for a sentence to be meaningful?

fooft araa @ Arefa Brar @ fere foerfelRaa 3t A o= vw siforart ord ordt 3 ?

[Question ID = 1879][Question Description = S2_qSNz_PG_GP6_Q29]
1. Akanksha/smaoist

[Option ID = 7513]
2. Yogyata/=lerar

[Option ID = 7514]
3. Shakti/efts

[Option ID = 7515]
4. Sannidhi/fsarfer

[Option ID = 7516]

25) The word 'Pen’ may denote either an instrument for writing or an enclosure for animals. Such a case may be
understood as a fallacy of

"Uel’ 916G U cIdol IUDVT 3[dl UQL3Ll @ SIS I JAD 3l APl 3 WA ARIc @I fogeifeiRaa 31 3 sirar T Plel AT 1Y A ST ADAT 3 ?

[Question ID = 1880][Question Description = S2_qSNz_PG_GP6_Q30]

1. Accent/¥azmEma

[Option ID = 7517]
2. Equivocation/ziféserar

[Option ID = 7518]
3. Amphiboly/ seicrefasar

[Option ID = 7519]
4. Composition/3iecst

[Option ID = 7520]

26) What is the MAC address?
Ao A TS ?

[Question ID = 1881][Question Description = S2_qSNz_PG_GP6_Q31]
1. A unique number that identifies a device connected to the internet/sezolc 3 S =ic] DI UsTIol B0l dlcil TD 3f6ToT JRRAL

[Option ID = 7521]
2. A unique frame number required for error control/gqfe foriqur & fere sIa9 e udb 3ol B AMRR

[Option ID = 7522]
3. A unique number required for a port/di¢ @ fé1e 3Ma9AD® BDH 3foloRT XL

[Option ID = 7523]
4. A unique address of a website/u® daqRirse @I 366 UAl

[Option ID = 7524]

27) What is parity checking ?
Aol b} Sita (TUf¥E} afepst) a=m 3 ?

[Question ID = 1882][Question Description = S2_qSNz_PG_GP6_Q32]
1. A method used to check that data has reached the destination/s it &t fdfer oo STeT vider dd ugd sRI 8



[Option ID = 7525]
2. A method to check whether data has been changed or is corrupted/s sifcol i fafer o aem stet uf¥afeia = sigfg (Bes) 31 28

[Option ID = 7526]
3. A method to check that number is even or odd/=z Siicor & fafér fop e w1 & @ fwer

[Option ID = 7527]
4. A method to check that data is in serial or parallel order/=& Siicot & fafér fop srer Juft et 3 & ar Jerea o

[Option ID = 7528]

28) Which statement is NOT true for QR (Quick Response) codes?
®Blol - AT Dol Y IR (fraw Izuia) B & fo1e A ol 3 ?

[Question ID = 1883][Question Description = S2_qSNz_PG_GP6_Q33]
1. There is no need for the user to write down or key-in a website address/3uwierpat (JsrR) Bt daiTsT VA frxToer I AT 3 "6t Sof" B2l DI B MALADAT o1dt

3

[Option ID = 7529]
2. QR codes can store website addresses/d?] 3R DI dGASC VA DI WY oldl D2 ADd &

[Option ID = 7530]
3. QR codes cannot hold digits/a¥] 3R @IS 3idl Pl €mrRur oidt @2 A &

[Option ID = 7531]
4. QR codes can be scanned anywhere /a3 @IS @ &l 8ff Idar foper s Abar 3

[Option ID = 7532]

29) Which statement is NOT true for Universal Serial Bus?
Dlol - AT Dol Jforazier e a1 B fore e o1t 3 ?

[Question ID = 1884][Question Description = S2_qSNz_PG_GP6_Q34]
1. It is a synchronous serial data transmission method/s Jercictior ofdres (ffsrer) ster e fafer &

[Option ID = 7533]
2. ltis a four-wire shielded cable/w=z ar ari arct ufsfera dact 3

[Option ID = 7534]
3. Devices plugged into the computer are automatically detected/@sw]cz 3 wel fobu s1u fSarsil @1 ¥ad: udl cel Sidl &

[Option ID = 7535]
4. Several different data transmission rates are supported/s fafieo Ster a1 531 B IAMIE B 3

[Option ID = 7536]

30) Which one of the following is NOT a sensor device?

Dlol-AT TP AR fSas ol 3 ?

[Question ID = 1885][Question Description = S2_qSNz_PG_GP6_Q35]
1. Burglar alarm system/ar - &ct Brea

[Option ID = 7537]
2. Control of street lighting/rs® &t aferil @1 foridgur

[Option ID = 7538]
3. Antilock breaking systems on cars/snf=1i 3 g @ R cifcd Aekt yomeh

[Option ID = 7539]
4. Microphone/as® / ARGl

[Option ID = 7540]

31) According to Noise Pollution (Regulation and Control) Rules, 2000, the night time noise standard for commercial areas in
India is
eafel gguur (fformet 3iiz foriqur) forrer 2000 @ SelAR HRA 3 AIVISAD Siql & fere Algmiicrd eafer AR 8 :

[Question ID = 1886][Question Description = S2_qSNz_PG_GP6_Q36]
1. 65dB

[Option ID = 7541]
2. 55dB

[Option ID = 7542]
3. 50dB

[Option ID = 7543]
4. 45dB

[Option ID = 7544]

32) The second highest concentration in biogas is that of

TRIBR 3 g3l siferepae gy fopadt aict 3 ?



[Question ID = 1887][Question Description = S2_qSNz_PG_GP6_Q37]
1. Hydrogen sulfide/zssisior Jcwiss

[Option ID = 7545]
2. Sulphur dioxide/3cw? sssifaRiss

[Option ID = 7546]
3. Methane/f#da

[Option ID = 7547]
4. Carbon dioxide/order sssiiaiss

[Option ID = 7548]

33) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Natural disasters exacerbate poverty in developing countries.

Reason R: Developing countries lack national disaster risk strategies aligned to Sendai Framework.

In light of the above statements, choose the correct answer from the options given below

il 3t werel RRu s1e 3¢ uep sifdrperst (Assertion A) @ %u 3 iz ¢RI 3@ BRI (Reason R) & wu 3 :

sifdreperst (A) : grapferes smucrd famriofiar Soit 3 siiidl agr St 3

®Rut (R) : fariofe Soii 3 sz Baas A WRaa el smuct sifasr Wwchferl o1 sema diar 3

IURITS Dol B 3l 3, ofil fSu faapeul 3 2 7 IR BT R DI

[Question ID = 1888][Question Description = S2_qSNz_PG_GP6_Q38]
1. Both A and R are true and R is the correct explanation of A/(A) siiz (R) @laii 31 3 32 (R), (A) &t 3 wmen 8

[Option ID = 7549]
2. Both A and R are true but R is NOT the correct explanation of A/(A) 3iz (R) gleil 3= & wag (R), (A) &t 3 areen ot 8

[Option ID = 7550]
3. Ais true but R is false/(A) 3= 3 wog (R) 3R

[Option ID = 7551]
4. Ais false but R is true/(A) sricar 3 uzoq (R) 2t 3

[Option ID = 7552]

34) Which of the following pollutants termed ‘short-lived climate pollutants'?
A. Black Carbon (BC)

B. Methane (CHy4)

C. Hydrofluorocarbons (HFCs)

D. Surface Ozone (03)

E. Carbon dioxide (CO3)

Choose the correct answer from the options given below:
fogatferRaa 3 3 fpel Ygud! @I '3ICUR] SICAR] Ygud Bad 3 7
A. sto @rdat (BC)

B. 331 (CH4)

C. srE3ludrIee (HFCs)

D. a1 sisiet (03)

E. oot sssiiaarss (CO.)

il fou s1u freseul 3 3 I IR BT w6l HIfSIE ©

[Question ID = 1889][Question Description = S2_qSNz_PG_GP6_Q39]
1. B and D only/@ae B siiz D

[Option ID = 7553]
2. B, D and E only/dac B, D 3z E

[Option ID = 7554]
3. A, B, Cand D only/daer A, B, C 3iiz D

[Option ID = 7555]
4. B, C, D andE only/daer B, C, D aiie E

[Option ID = 7556]

35) As part of the Intended Nationally Determined Contributions, India's target of 33-35% reduction in carbon emission
intensity by the year 2030 is sought to be achieved with reference to

MIIRIA ASERT TR WR forerii¥a APIGa (3¢5 ol9oicil 3earss oéleyeiRt) @ ded ad 2030 am Prdd 3etsial df argy 3 33 - 35 % ot Bt



DI HId DI c1g f[pAad g 3 g wen & ?

[Question ID = 1890][Question Description = S2_qSNz_PG_GP6_Q40]
1. 1990 levels/1990 =2

[Option ID = 7557]
2. 2005 levels/2005 xr

[Option ID = 7558]
3. 2015 levels/2015 x12

[Option ID = 7559]
4. 2020 levels/2020 ¥

[Option ID = 7560]

36) A teacher of higher education must imbibe certain values and must:
A. act as an educator for the students

B. present an ideal of working with sincerity

C. love the subject and the students

D. effectively transmit information to students

E. use information and communication technologies while teaching
Choose the correct answer from the options given below:

I fore @ fOr81ed bl DfeTRI Jceil @l 3iforart wu A eI aol aifdu sl 33A
A. BIqi & Arer v Rigid & wu A ORI den aifze

B. forsorydas @RI w0l @I 3ncel yzdd ol afde

C. fau= 3iiz @Gl A Y dlen arfde

D. S1qi a® el BT YIalicil a3l A YUl ol difse

E. sreamuot & Sivrel ol d AYWUT Yienf3rehbl b1 YRIeT ol anfde

il feu aru farmedl 3 A A8 IR D1 TRIet B :

[Question ID = 1891][Question Description = S2_qSNz_PG_GP6_Q41]
1. B and C only/a@ac B siz C

[Option ID = 7561]
2. Aand B only/dact A iz B

[Option ID = 7562]
3. DandE only/@ac D siiz E

[Option ID = 7563]
4. B and E only/dact B 3iiz E

[Option ID = 7564]
37) The UGC has mandated a six-month module syllabus for UG courses for all branches of higher education with the
objective:
A. to implement CBCS in the true sense
B. to enhance knowledge, skills and attitude towards the environment
C. to provide first-hand knowledge on various local environmental aspects
D. to implement the order of Hon'ble Supreme Court of India
E. to protect the environment
Choose the correct answer from the options given below:
iRl of 3<a forgn &t @it omransii @ fore gdvona® @R @ fo1e v 86 #ile o ASYT IS @I iferdaer feun 3 forrmr 3g9a 3 :
A. 3t @t 2ft o1 1 A3l ARIGY A Y, el
B. uafazur @ yfer =61, @iore 3iiz sifdmaft o agen
C. fafdeor Temofikl vrifaeviiRn usll @1 Yeast el Yglol dell
D. sra @ ool Adica GRIRICRI @ 3G9I DI TISY, Dol
E. u=afarur o1 38101 Dol
il fou s1u freseul 3 A I IR BT ToT HISIE ©

[Question ID = 1892][Question Description = S2_qSNz_PG_GP6_Q42]
1. A and B only/d>act A iz B

[Option ID = 7565]



2. Band C only/@act B siiz C

[Option ID = 7566]
3. Cand D only/aqe C sik D

[Option ID = 7567]
4. D and E only/a@act D 3iiz E

[Option ID = 7568]

38) UGC has introduced CBCS for all higher education institution as:
Ioii=dl of il 3<a forem Jizemell @ fere 2 &t i var R v @ a=iifep :

[Question ID = 1893][Question Description = S2_qSNz_PG_GP6_Q43]
1. it has to implement percentage based evaluation rigorously /s3I yfeterd smenf¥a Fjceiicvol Pl PSS D ATel cl5], Dol &

[Option ID = 7569]
2. it has to prepare uniform syallbus throughout the country. /33 g9t #12 3 U A6l UIGAIDA RIR DI &

[Option ID = 7570]
3. there is a need to allow the flexibility so that students can choose courses of their interests. /z1zi ciclict ust @ iR B bt srageradr & difds @1 ot

i D DRI gol AD

[Option ID = 7571]
4. to bring transparency and uniformity in evaluation. /3[ciicel 3 URGdAI a AR oIS ST AD

[Option ID = 7572]

39) Who among the following has the regulatory authority to grant recognition to open distance education courses?
I g f91811 DRI DI AIGRIAT YgIal Dol @I forIEIe giferor forgot 3 A feard ur1 3 ?

[Question ID = 1894][Question Description = S2_qSNz_PG_GP6_Q44]
1. IGNOU/saqy,

[Option ID = 7573]
2. MHRD/#irera Jimerel fapr1 Figierr

[Option ID = 7574]
3. UGC/feafcencrI siojciol RISt

[Option ID = 7575]
4. DEB/&t €t

[Option ID = 7576]

40) Match List | with List Il

List | List Il

IA. Establishment of NAAC |Il. 1969
B. Establishment of NCTE (I1.1992
C. Establishment of AICTE [lll. 1995
D. Establishment of ICSSR [IV. 1987

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et -1 ot -l
A. var © © 3 &I Fermuen 1. 1969
B. ot 2t & § &bt remuen 1. 1992
C. v ang it & § &6 Femuonr 1. 1995
D. 3 2l v g 3R bl Fermuen IV. 1987

ofid fu sru fapeal 3 A1 A3l IR gfe :

[Question ID = 1895][Question Description = S2_qSNz_PG_GP6_Q45]
1. A-1,B-1I,C-1V,D-1

[Option ID = 7577]
2. A-1,B-1,C-1l,D-1IV

[Option ID = 7578]
3. A-1L,B-1I,C-1,D- IV

[Option ID = 7579]
4. A-IV,B-1l,C-1,D-1l

[Option ID = 7580]

Topic:- GP6_D1_SH1_Set2_C



1) Read the given passage and answer the questions that follow:

Faceless assessment entails removing direct interaction between income tax officials and tax payers through features such
as the random selection of taxpayers and the removal of official’s territorial jurisdiction. The taxpayers' charter, which has
statutory sanction, is a list of guidelines for the department and taxpayers which detail the rights and responsibilities of both
taxpayers and officials. They include honesty, courteous and reasonable treatment and a fair and impartial mechanism for
appeals and review. The charter also mandates provision of complete and accurate information, collection of correct
amounts of tax and respect for privacy and maintenance of confidentiality. These are important in any interaction between
the government and the citizens but are especially important in matters related to tax collection.

Tax reform measures have often failed in the country for various reasons. The rules and regulations are too many and
complicated. Many reform measures were not implemented properly because of vested interests. The system often did not
encourage free functioning of officials and incentivise honesty on the part of taxpayers. The new initiative aims to address
these and other entrenched problems with new methods and processes and with the use of technologies like machine
learning and artificial intelligence. Tax officials will have to be trained and motivated to adopt the new system and
taxpayers will have to be informed and educated on it. Barely 1% of the population pays taxes in the country. A better
approach to taxation will bring more people into the tax net. The new processess should be given a serious and sincere
push, though there are many odds against them.

sifa feu a1u srErior @l earelyde® uféu 3iik Yol @ 3R <IfiT ©

WBAA TAANUCT TARID HU A DIGIALN D AreRI® wRIol 3iiz DGR B SGIffIoR o el Sil fafdrscdrsit @ areer A mrIw? sifero iy
a DGR & dfia Bl geael sfod: g oY J9md oar 3 Aifafee Fdiiafer gra wecrasil & siffror - uq 3 e a weansii @ fore o -
forgoll bt vap Pt 3 Rrerdl wcrasil siiz ifrBIRRIl Sloll @ 3if2rpRI 3z cIRIedl @1 farur f& SR 3 sordl Sarecll, o1 @ AARM FIasR 3z
3rdler g goRign @ feru v sarilfa a forougt figar - fafér onfirer 8 sifrpR - uq 3 gui a Aéie IJaetr, o= b AT AT @I s a forsar @&
IHFATGT 312 SNUGHRIAT & 31c281vT oI o IS 3 IRPR 3R oIl & dia fopil 3ht sia:fgzn & fore A FAscayt & ueq &2 - sEur & AR i
A fad wu A wscaget T

391 3 B2 PR D Iurd fafticot Rl A fawa gu 3 orEl sii faforpil 6 sraR 3 3z d siRa & JUR D 3ot Iuril oI Hifda Farelf & orur
3fIeT o1 A Y o1dl Rpan SR o1 wrazen of agen eIl & b DrRidwr 3R Becrasit B Sarecrsl B Qicadd ofl fiben o usciamcatt
@I 389 Aol 3if2eme 3R Hfepr gy (v 3ns) Sixit YienBrbl @ giler siik off falRril a gignsii @ sif¥e s 3R srew s162rs A Uo & Jarz=sil
DI I Bell T oI AT B 3Uollol D feru o2 sifrpifl ot gfdrfdra iz Yfea wen em sz werdarsii ot 51 AHder i Jfaa a forfdra
ol PN 91 3 SIoRizeAT oI Jdwad A 1 % 8 B2 AT BALlel D Yl veb JaR ugd A, 30 31f2ro sIe1i¥es B2 & SRR 3 39l o gipamait
@I spfizar siiz $ArGICISt gdab 3i1e] aGToll S9N BIclifs Jold g bl faua ufsfFafern 3

The new income taxpayer's charter reflects its
DTSl DI o 3ferp1R - ue fordat 3 A o2 gorfan 3 :

[Question ID = 1896][Question Description = S2_qSNz_PG_GP6_Q46]
1. Territorial jurisdiction/gxqiférarz
[Option ID = 7581]
2. Legal character/faférs Faz=ua
[Option ID = 7582]
3. Direct interactive nature/ygras1 sia:fipRcara gapfer

[Option ID = 7583]
4. Randomisation of tax payment./®3cramii @1 aefegador

[Option ID = 7584]

2) Read the given passage and answer the questions that follow:

Faceless assessment entails removing direct interaction between income tax officials and tax payers through features such
as the random selection of taxpayers and the removal of official’s territorial jurisdiction. The taxpayers' charter, which has
statutory sanction, is a list of guidelines for the department and taxpayers which detail the rights and responsibilities of both
taxpayers and officials. They include honesty, courteous and reasonable treatment and a fair and impartial mechanism for
appeals and review. The charter also mandates provision of complete and accurate information, collection of correct
amounts of tax and respect for privacy and maintenance of confidentiality. These are important in any interaction between
the government and the citizens but are especially important in matters related to tax collection.

Tax reform measures have often failed in the country for various reasons. The rules and regulations are too many and
complicated. Many reform measures were not implemented properly because of vested interests. The system often did not
encourage free functioning of officials and incentivise honesty on the part of taxpayers. The new initiative aims to address
these and other entrenched problems with new methods and processes and with the use of technologies like machine
learning and artificial intelligence. Tax officials will have to be trained and motivated to adopt the new system and
taxpayers will have to be informed and educated on it. Barely 1% of the population pays taxes in the country. A better
approach to taxation will bring more people into the tax net. The new processess should be given a serious and sincere
push, though there are many odds against them.

il fou 31U srEri9l @l earegde® ufeu siiz gesll & 3a= I ¢

WBACIA TARIIUT MARID HU A BIGIARI D ARRTD aRIel 312 MAUDIHRI D SJIf2DR Bl el il fafdrsedrsii @ et A R ifdrpiel
q PIGIARI @ i bl Yeael fod: fpar o e oar & Aifafere dimier yra oeramnsii @ iféoR - uq 3 fdemer g ocrarnsii @ fere Som -

forgoll bl vap Iyt 3 Rre1dl Dcresil 3iiR IRRBINRIL Sloll @ 3If2IPRI 3k IRl @1 fararvl {1 SR 3 so1dl SareIcHdl, o1 @ AARM RIasR 3R
ardier @ yordisn @ fore ues carifid a forsugt fopam - fafr onfdrer 3 siférpR - uq 3 guf a A& Jaol, o2 &I A8 A1 @1 FsEvr q forsrar



AFATSA 312 SNUGIRIAT B 316J2&10T Bl 9ft AT & IRPR 3MR IPINDI & dia fopht oft sia:Rpan & fore A sscayyt T useg @2 - el & FAwE A
3 fa9ly ¥4 A HAscagui &

391 3 @3 JUR @ UK fAf¥reor @Rl A fawer gu & formdl siiz faformedl &l szarR 3 sl d sifter & JUR D sfold IURIl @I foifda Farelf & dRur
3R @91 3 <IFY o181 fopaT SRIT &1 SIaell of S SIAPINRIL D Frb PRIDAVI iR BGIARII DI SHIGICIT DI YIeAIdd ol fon o uscidesil
@I 359 A9MiaT 3feera 3iir it 9 (v 3m) St YienPrdt @ gaier 3R off 2RIl a giipamsii @ Sifeu sof 3iiR 3163 3162 A Uo DI ATl
Dl A BIWI & o1 RIaFeAT Bl Uelol D fere @2 siftrpifil ol yfifam iz gf¥a oo don 3R dcrdamsii ol A Ader 3 Jfra a forféa
I BPN ST 3 SIoRIRSAT T FOBer A 1 % 8 B2 SATE BALGI D Yfel Ueb IR ugd A, 312 3ifeh oIl B2 B SRR 3 mdal o yfepamsit

The charter is intended to ensure
3Mf2rPR - uq @I 3cl woifelRaa ol JfeiRia oo 3 ©

[Question ID = 1897][Question Description = S2_qSNz_PG_GP6_Q47]
1. Strict collection of tax/@srs 3 @2 JsEur
[Option ID = 7585]
2. Publicise tax payers' list/@2gramil &t it @1 yail¥a w2
[Option ID = 7586]
3. Fair settlement of appeals/sidicit @t cerRiferT Jemerer

[Option ID = 7587]
4. Maintaining public transparency/dsifors uretolar o e

[Option ID = 7588]

3) Read the given passage and answer the questions that follow:

Faceless assessment entails removing direct interaction between income tax officials and tax payers through features such
as the random selection of taxpayers and the removal of official’s territorial jurisdiction. The taxpayers' charter, which has
statutory sanction, is a list of guidelines for the department and taxpayers which detail the rights and responsibilities of both
taxpayers and officials. They include honesty, courteous and reasonable treatment and a fair and impartial mechanism for
appeals and review. The charter also mandates provision of complete and accurate information, collection of correct
amounts of tax and respect for privacy and maintenance of confidentiality. These are important in any interaction between
the government and the citizens but are especially important in matters related to tax collection.

Tax reform measures have often failed in the country for various reasons. The rules and regulations are too many and
complicated. Many reform measures were not implemented properly because of vested interests. The system often did not
encourage free functioning of officials and incentivise honesty on the part of taxpayers. The new initiative aims to address
these and other entrenched problems with new methods and processes and with the use of technologies like machine
learning and artificial intelligence. Tax officials will have to be trained and motivated to adopt the new system and
taxpayers will have to be informed and educated on it. Barely 1% of the population pays taxes in the country. A better
approach to taxation will bring more people into the tax net. The new processess should be given a serious and sincere
push, though there are many odds against them.

sifal feu o1u sreErior @l earelyde® uféu 3iik gosil @ 3R IR @

BAAA TAANUCT ATARID HU A DBIGIALN D AreRTd wRIol iz DGR B SGIffroR oY sl Sil fafdrscdrsit & et A mrrb2 siferaifyn
a Bl & dia bt geael sfod: g B J9md oar 3 Aifafdes et gra aecrasil & siffier - uq i et a werarnsii @ fore o -
forgort bt uap It 3 fOre1al @weeransii sii siftrpIfRIl Sl6ll @ siférpRI iz IRl @1 frarur a1 R 3 3o $aToIersl, o a APRA RaasrR 3k
3rdler g gordign @ feru v sarilfa a forougt fogan - faf?r onfdrer 8 siferpR - uq 3 gul a aéie e, o= &bt A3t Afdr @1 s g forsar @&
IFATGT 312 SNUGHRIAT & 31c281vT oI off If2S9I 3 IRPR 3= cIEIf¥d! & dia fopail 3ht sia:fgzn & fore A FABcayyt & useq &2 - JsEur & HARE I
3 faoly ¥u A FAscagui &

Sor 3 o2 PR @ Iurd fafdicor wrull A fwe gu 3 forEil 3R faformdl &t srar & 3R 4 st ¥ JR & o1 Iurl @I foifda Farelf & orur
3T Go1 A ey o1dl fpen SR o wrazen of agen eI S b Driwr iz drcramsit B St B Qicardd ol fioen o usciwcatt
@I 389 Aol 3if2rma 3R ofepr gy (v 3ng) Sixit Yienfebl @ yiler siik off falRril a gignsii & sif¥e so iR srew s162rs A Uo & Farzmsil
D AT Dol 3 oI RIATAT DY 3Uellol D 18 B2 AfIDINRN o gforfara iz Qf¥a mon don iR weeransil ot s der 3 Jfra a fdrfdra
DG BN ST 3 SIoRIRSAT T Jfdber A 1 % & B2 SATE BAeel D Yfel Ueb JaaR ugd A, 312 31fd oIl B2 & SRR 3 sl o yfpamsit
@l 3niiRdl 3R SHIGIGIHI Ydd 31181 dGI6l BI°T BIClifcs JoId g bl fauar ufel¥erfer 3

One of the charter objectives is to

3ferpR - uq o1 329 3 :

[Question ID = 1898][Question Description = S2_qSNz_PG_GP6_Q48]
1. Expose tax payers to the government/3IR®R &l BIIAmI 6t SiIerbR! oIl

[Option ID = 7589]
2. Incentivise tax officials/@z siférpif¥=ii @1 Gicansor Som

[Option ID = 7590]
3. Protect tax payers from invasion of privacy/@2gramsil o forsrar @ 3ccieel A qdrel

[Option ID = 7591]
4. Safeguard the taxpayers from confidentiality mechanism/@gramsit ot siusiierar de 3 aarer

[Option ID = 7592]



4) Read the given passage and answer the questions that follow:

Faceless assessment entails removing direct interaction between income tax officials and tax payers through features such
as the random selection of taxpayers and the removal of official’s territorial jurisdiction. The taxpayers' charter, which has
statutory sanction, is a list of guidelines for the department and taxpayers which detail the rights and responsibilities of both
taxpayers and officials. They include honesty, courteous and reasonable treatment and a fair and impartial mechanism for
appeals and review. The charter also mandates provision of complete and accurate information, collection of correct
amounts of tax and respect for privacy and maintenance of confidentiality. These are important in any interaction between
the government and the citizens but are especially important in matters related to tax collection.

Tax reform measures have often failed in the country for various reasons. The rules and regulations are too many and
complicated. Many reform measures were not implemented properly because of vested interests. The system often did not
encourage free functioning of officials and incentivise honesty on the part of taxpayers. The new initiative aims to address
these and other entrenched problems with new methods and processes and with the use of technologies like machine
learning and artificial intelligence. Tax officials will have to be trained and motivated to adopt the new system and
taxpayers will have to be informed and educated on it. Barely 1% of the population pays taxes in the country. A better
approach to taxation will bring more people into the tax net. The new processess should be given a serious and sincere
push, though there are many odds against them.

sifa feu o1u srErior @l earelyd® uféu 3iik gl @ 3R <Ifim ©

WACA TAANUCT ATARID HU A DIGIALN D Arefesd wRiol iz JDIIRT B SGIffroR o el Sil fafdrsedrsit @ et A R siferaifyn
a DGR & fia bt geael sfod: gz Y 39 oar 3 Aifafee il gra aecrasil & siffror - uq i et a weansii @ fore o -
forgoll bt vap Pt 3 Rreral crasil siiz ifBIRRIl Sloll @ 3if2rpRI 3z IRIedl @1 frarur f& SR 3 sordl Sarecl, o1 @ AARM FIasR 3z
3rdle g gorign @ feu v sarilfa a forougt figar - fafér onfirer 8 sifrpR - uq 3 gui a Jéie IFaetr, = &bl AT AL @I sLeuT g forsar @&
IHFATGT 312 SNUGHRIAT & 3re281vT oI o AT T IRPR 3R oIl & dia fopil 3ht sia:fgzn & fore A FAscayt & uzeq &2 - sEur & AR i
A fa9 wu A wAscaget T

391 3 ®2 PR B Iurd fafticot Rl A fawa gu & HorEl sl faforpil & sraR 3 3k d siRa & JUR D soie Iuril oI Hifda Farelf & orur
3fIT o1 A cIrEY o1dl Rpan SRIT o1 wrazen of agen eIl & b DrRidwvr 3z Becramit B Sarecrsl B Qicaidd ofl fiben o usciwcatt
@I 389 Aol 3if2me 3R ofepr gy (v 3ns) Sixit YienBrbl @ yiler siik off falRril a gigmsii @ sif¥e s 3R 36w s162rs A Uo & Jar=asil
DI I Dol oI RIAAI B 3Uollol D feru o2 sifrpifl ot gfdrfdra iz Yfea wen em 3z werdarsii ot 51 Hder i Jfaa a forfdra
ol BN 91 3 SIorRizeAT BT Jdwed A 1 % 8 B2 AT BALlol B Yl veb JaR ugd A, 3R 31f2rd sIe1i¥es ©2 & SRR 3 3mdal o gipamait
@I spfizar siiz $AGICISl gdad 311e] aGToll S9N BIclifs Jold g bl faua ufsfFafern 3

Attempt at tax reforms have failed because of
D2 JUR D YART fawer gu 3 o=l ©

[Question ID = 1899][Question Description = S2_qSNz_PG_GP6_Q49]
1. Free regime of tax officials/@mz sifermifs=ii &t Fep crazen &
[Option ID = 7593]
2. Hotch-potch implementation/@riicaerel dad dRid 3 831 &
[Option ID = 7594]
3. Too many players in the field/s &xq 31 3ol a ar® 3

[Option ID = 7595]
4. Uneducated taxpayers/3ififéia aw2erar 3

[Option ID = 7596]

5) Read the given passage and answer the questions that follow:

Faceless assessment entails removing direct interaction between income tax officials and tax payers through features such
as the random selection of taxpayers and the removal of official’s territorial jurisdiction. The taxpayers' charter, which has
statutory sanction, is a list of guidelines for the department and taxpayers which detail the rights and responsibilities of both
taxpayers and officials. They include honesty, courteous and reasonable treatment and a fair and impartial mechanism for
appeals and review. The charter also mandates provision of complete and accurate information, collection of correct
amounts of tax and respect for privacy and maintenance of confidentiality. These are important in any interaction between
the government and the citizens but are especially important in matters related to tax collection.

Tax reform measures have often failed in the country for various reasons. The rules and regulations are too many and
complicated. Many reform measures were not implemented properly because of vested interests. The system often did not
encourage free functioning of officials and incentivise honesty on the part of taxpayers. The new initiative aims to address
these and other entrenched problems with new methods and processes and with the use of technologies like machine
learning and artificial intelligence. Tax officials will have to be trained and motivated to adopt the new system and
taxpayers will have to be informed and educated on it. Barely 1% of the population pays taxes in the country. A better
approach to taxation will bring more people into the tax net. The new processess should be given a serious and sincere
push, though there are many odds against them.

offa fou 31U srEri9r @l earelgde® ufeu iz gesll & 3= IS @

WBIACIA TARIIUT MARID HU A DIGIARI D ARRTD aRIel 312 AUDIHRIT D SJIf2DR Bl el il fafdrsedrsii @ et A R iferpiel
q PIGIARI @ & DI Yeaet fod: g o e oar & Aifafere dimicr yra oeramsii @ iféeR - uq 3 fdemer g wcrarnsii @ fere Som -

forgoll bt vap Iyt 3 Rr1dl Bcransil 3iiR IRRBIfRIL Sloll @ 3If2IPRI 3k IRl @1 fararvl &1 SR 3 so1dl SareIcHl, oot @ AARM RIasR 3R
ardier @ yordisn @ fore v carifid a forsugt fopam - fafr onfdrer 3 siférpR - uq 3 guf a A8 S Jaol, o2 &I A8 Afd1 @1 FsEvr 9 forsrar &



AFATSA 313 SNUGIRIAT B 315I2810T BT 9ft 3FAUSIA & IRPR 3R IPINNDI & dla fpht oft sia:Rpzm & fore A sscayyt T useg @2 - el & ARE A
3 fa9g U A HAscaygui I

So1 3 @3 JUR @ UK fAf¥reor @Rl A fawer gu & formdl siiz faformedl &l AR 3 sl d sifter & JUR D sfold IURIl @I foifda Farelf & dRur
SRIA Go1 A cIF] ofdl fopen oM o RIazen of agen AfDIRI & Feb BRI iz el B St o Qicaiad oidl fipen o1 uscrmeatt
@I 359 A9MiaT 3feera 3iir it 9 (v 3m) St YienPrdt @ yaIier 3R off 2RIl a giiprmsii @ Sifeu s 3iiR 316 3162 A Uo DI AT
DI AT Dol & oI AT B UoIIol B fo1e o2 iffrpiil o yfdrfdia siiz Yf¥a won em 3z weerdansii ot s Hser i Jfra a forfdra
I BPN ST 3 SIoRIRSAT T JOBer A 1 % 8 B2 SATE BALSI D Yfel Ueb YR ugd A, 312 3feh oIl B2 B SRR 3 mdal o yfepamait

The author of the passage suggests the following reforms in income tax collection:
A. Removal of vested interests

B. Training of officials to adopt the new methods

C. Introduction of machine learning and artificial intelligence

D. Compelling more and more people to pay taxes with tough measures
Choose the correct answer from the options given below:

3IRID? AIYBUI A R D fe1u arerior o ciad @ foldol P3ia 3 :

A. foifda zareif @t seren

B. o1$ faferil @I srueirol @ ferg sifgrooifyal @1 gfdrfara e

C. aoflor siirar a ofe gl (T 3mg) I RH Dol

D. @3 Suril @ AT 3 ARl DI B2 YPIdTel D fere fdaer wen

offa fou o1 fyepeul 3 21 & 3a= goi ¢

[Question ID = 1900][Question Description = S2_qSNz_PG_GP6_Q50]
1. A and B only/dbaet A 3iiz B

[Option ID = 7597]
2. B and D only/@act B siiz D

[Option ID = 7598]
3. Aand Conly/@act A siiz C

[Option ID = 7599]
4. Band C only/addct B siiz C

[Option ID = 7600]






